2022/10/27 12:23 1/6 ooooo

oo

obot&ionn

O0000000 000 $Treap$
$Treap=BST+Heap$
$Heap$ 0O OO O OOQ$BSTS OO DO ODODOOODOOODOOOOOOO

$val$ 00O $BST$(J$rnd$ 00 $Heap$ (D OO OO DO OO O0$Treap$s DD DO DO DOOODOO $rnd$
000000000000 0000b00000b0000bOO000b0bO00Dn $vals 00 0O0DOOO0
000000000000 0000Db0 $rd$ 00000000000 DLOO000O0DbOO00ODbOO0On
ogoooon

OO0 $vals 000000000 $rd$0000000C0O0OODOCOOOO %log {n}$s000OCOOODO
gobogobboooboooonoo

gobobooooboogod-~
gboogoboooboboobooboobooboboobooboobobobobboobooboOoon

oo oo o on
gboboogobooboooooo

goodoooooad

Ooo0o0oOO0OOoO0ooOoOOOOOODOOOOOODOOO$1s000 $1s000000%vals 0000000
00000000 $ecmp$ 00 0O0OODOOO

inline void zig(int &p,long long 1,long long r) {/000
int g=trp(pl.lson;
trpipl.lson=trpiql.rson;
trpiq!.rson=p;
pushup(p);
pushup(q);
get valiq,l,r);
p=q;

inline void zag(int &p,long long 1,long long r) {/000O
int g=trp(pl.rson;
trplpl.rson=trplql.lson;
trplql.lson=p;
pushup(p);
pushup(q);
get valiq,l,r);
p=q;

inline void ins(int &now,int pos,long long 1,long long r
'now
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trpipos].lson=trp[pos]|.rson=0;
trplpos].val=l+r>>1;
trplpos|.key=rand();
trplpos|.size=1;
trplpos|.cnt=1;

NoOw=pos ;

’

int tmp=comp(now,pos) ;
tmp>

ins(trplnow!.lson,pos,l,trp/now|.val-1);

pushup(now) ;
trpitrpinow].lson|.key<trp[now!.key) zig(now,l,r);

tmp<

ins(trplnow!.rson,pos,trpinow|.val+l,r);

pushup(now) ;
trpltrpinow|.rson!.key<trplnow|.key) zag(now,l,r);

trpinow|.cnt++;
pushup(now) ;

0000000000000 0000$emp$s 0000000 DOOOO0ODODODOOOODOOOOODOD
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0000000000000 000000000D00000D0D0O0O000DODDO00oODOOO $1$0
$rs0 00000 $(+n/2300 0000 $1$ 0 $(1+r)/2-1s 000000 $(+n)/2+1$ 0 $r$ 00O 0O O
0000000000000 00000000000000 $0(legn)$ 00000 O0ooooOoOoon
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inline int comp(int x,int y
s[x]>slyl||sx]==s[yl&&trp[x+1].val>trp[y+1].val ;
s[x]==s|yl&&trp[x+1].val==trp|y+1].val ;

’

inline void get val(int now,long long 1,long long r
trplnow|.val=l+r>>1;
trplnow|.lson) get val(trplnow|.lson,l,trplnow].val-1);
trpinow!.rson) get val(trpinow|.rson,trpinow!.val+l,r);

0000000000000 O000DOOO0000DOO000D00OO0O00 $FHQTreapsd0OoOO
00000 $0(legn)$ 000 O0O0DODODOOODOOO

inline void pushup(int pos
int lson=trp[pos|.lson,rson=trp/pos!.rson;
trplpos|.size=trp|[lson|.size+trp/rson].size+trp[pos|.cnt;
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int merge(int x,int y
Ix| |y X+y;
trp(x].key<trply].key
trpix!.rson=merge(trp/x|/.rson,y);
pushup(x);
X;

trply!.lson=merge(x,trply!.lson);
pushup(y);
\x

inline void del(int &now,int pos,long long 1,long long r

'now ;
int tmp = comp(now,pos);
Itmp

trpinow].cnt>1) trplnow|.cnt--;

now=merge(trp/ now|.lson,trp[now!.rson);
now) get val(now,l,r);

tmp>0) del(trp/now|.lson,pos,,trp/now|.val-
del(trpinow].rson,pos,trp/now!.val+l,r);
pushup(now) ;

.
1
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00000 %$sa, rk, height$ 0000 O0%$sa$ 00000 $is000000%rk$ 0000000 $is O
OO00%height$ 00 O0ODO $i-1$0000 $i$0000 $LCP$TIOQSdAfs$ 0O OO0 OOIODOOOOO
0000000000000 $sa$0 $rk¢s000O0DOoOoOooooO~

int cnt,salN|,rk[N!,height/N]/;
inline void dfs(int now
Inow ;
dfs(trpinow|.Llson);
sa|++cnt  =now;
rkinow|=cnt;
dfs(trpinow].rson);

inline void get height
int k=0;
int i=1; i<=len; ++i
rkiil==
k) --k;
int j=salrk[i]-1];
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j+k<=n && i+k<=n && s|i+k|==s|j+k]|) ++k;
height/ rkii! |=k;

00000000000 $0(logn)$ 00000 $n$ 000000000000 $0(nlogn)$ 00 OO
000000 $n$0000 $0(n)$ [0
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1.https://www.luogu.com.cn/problem/P5353
O0000 $n$ 0000000000 %$0 $n$ 0000000000 0O0O0O0O00O0ODOOOOO0

uoobogobobooobbooooobooobbuooobobooobbooobbooooo

gbobogoboodbobooobboooboooboboo

0000000 $n$0000 $2$0 $n$ 000000000000 0O0ODO0O0O0O0O0O0O $i$s00000O
000 $is0ooooon
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inline int comp(int x,int y

six|>slyl||six|==slyl&&trp/falx|]|.val>trp/faly!]|.val 1;
sIx|==s|y|&&trp[falx||.val==trp|[falx||.val&&x>y 1,;
//else if(s[x]==s[y]&&trp[fa[x]].val==trp[fa[x]].val&kx==y) return 0;
-1;
int main

scanf("%d",&n);
int i=2; i<=n; i++) scanf("%d",&fali]);
scanf("%s",s+1);
int i=1; i<=n; i++) ins(root,i,1,INF);
dfs(root);
int i=1; i<=n; i++) printf("sd ",sali]);
0;
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2.https://www.luogu.com.cn/problem/P5212
OO000000S$initsj00000D000D000DOO0O0O
1.00000000000000 00000 $ADDS$

200000 %s$ 0000000000000 000O0O0O 00000 $QUERYS$

0000000000000 000D000000 $mask$JO0D0O0OO 000000 DO0O0OO0O0OO
0000000000000 %mask$ 000000000 0O0O0OOOO00O0O $mask$ OO

000 0[$[init|<6x107{5},Q=6x10~{5}$0 00000 $< 3x 10M6}$ 0000000000 $A$ O
$B$ 000000 $3s$[]
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oo oo oon
0000000000000 00000D000000000D00O0 $0(3-10™{6}ogn)$0 OO DOODOO

inline int comp(int x,int y
six|>slyl||sIx|==slyl&&trp/x-1].val>trply-1].val ;
s[x]==s|y|&&trp[x-1].val==trply-1].val ;

’

bool check(int pos
int i=1,j=pos;tmps|i|;i++,j--
tmps|il<s|j true;
tmps[il>s(j false;

int get rnk(int pos
Ipos ;
check(pos get rnk(trpipos|.lson);
get rnk(trplpos!|.rson)+trpl[trp/pos|.lson!.size+trp|[pos|.cnt;

int main
scanf("%d",&n) ;
scanf("%s",s+1);
int len=strlen(s+1);
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int i=1; i<=len; i++) ins(root,i,1,INF);

int i=1; i<=n; i++
scanf("%s",opt+1);
opt =="'A"

scanf("%s",tmps+1);

int L=strlen(tmps+1);

int tmplen=len;

len+=L;

decodeWithMask(tmps+1,mask,L);
int j=tmplen+l; j<=len; j++
s/jl=tmps|[j-tmplen];
ins(root,j,1,INF);

scanf("%s",tmps+1);

int L=strlen(tmps+1);

decodeWithMask(tmps+1,mask,L);
int j=1; j<=L/2; j++
char tmpc = tmps|j!;
tmps!j| = tmps|[L-j+1];
tmps/L-j+1] = tmpc;

tmps|L+2]="\0";
tmps|[L+1]/="C";

int pos = get rnk(root);
tmps|Li--;

int posl = get rnk(root);
int result = pos-posl;
printf("%sd\n", result);
mask=mask”result;
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